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<<< Use Configuration Wizard in Context Menu >>>
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- Stack Configuration o
Stack Size (in Bytes) 0z0000 o200| I 2L

:// <h> Stack Configuration
://  <o> Stack Size (in Bytes) <0x0-OxFFFFFFFF:8>

/) </h>
Stack Size EQU 0x00000200
g | I gL
= N\
—|-Sy=ztem Timer Configuration [+
Swstam Timer clocl source selection SYSTICECLE = HCLESS
SYSTICKE peried [m=] 10
System Timer interrupt enabled [« |DEfaU|t: STSTICKCLK = HCLK/3 |
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// <e0
// . ystem Timer clock source selection GOEFER
//  <i> Default: SYSTICKCLK = HCLK/8

// <0=> SYSTICKCLK = HCLK/8 <0=> 1=
// <1=> SYSTICKCLK = HCLK (BRI 7k
//  <02> SYSTICK period [ms] <1-1000:10>
//  <i> Set the timer period for System Timer.
//  <i> Default: 1 (Ims)

//  <ol.1> System Timer interrupt enabled

// </e>

#define _ SYSTICK SETUP 1 /AR R 5 0
#define _ SYSTICK CTRL VAL 0x00000006 //BAEN SRS 1
#define _ SYSTICK PERIOD 0x0000000A //BAEN R 2
iR -
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FRFME | MUER R BRI RINES, 1 .2 7 AR S T & B % 1AL
#): .1=BIT1, .2= BIT2
<ol. >R /RNERAEMIEE 1 ANXTZ 1) BIT2
<ol. 2.. ORIRBAEMIEE 1 ANXF4L BITS, BIT4, BIT3, BIT2
<> Fr—AMIHBE R, K AR EERAE I H ER RS R

SYSTICKCLK = HCLK/S
[Default: SYSTICKCLK = HCLK/8 |

0=>, <1=>: {HFMTTFHIIEFE
i

ISYSTIERELK = HCLE/& vI

// <0=> SYSTICKCLK = HCLK/8 SYSTICKCLE = HLLE/S

// <1=> SYSTICKCLK = HCLK S EEE SO, B S
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i System Timer clock source selection SYSTICECLE = HCLE/S3
-~ SYSTICE period [ms] 10

i b-System Timer interrupt emabled r
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0: SYSTICKCLK = HCLK/8; 1: SYSTICKCLK = HCLK
BAER B 5 Ui
//  <el.13> Enable Chip Select 0 (CSRO)
[/ e
_ WDWORD (0xFFE00000, 0x010024A9) ; // EBI CSRO: Flash
L7 oR 2 MR
fil 2: RTC fic &
—|-Real Time Clock Configuration ﬁ
RIC clock source selection RTCCLE = ILSE (32, TEEkHz)
RTC period [ms] 1000
—|-BRIC Time Walue
Hour ]
Minute ]
Second ]
—-RIC M arm ¥alue
Hour ]
Minute 1
Second ]
BEEIC interrupts [
RTC_CEH. SECIE: Second interrupt enabled [«
RIC_CEH. ALETE: Alarm interrupt enabled [
RIC_CEH. OWIE: Owerflew interrupt enabled [
// Real Time Clock Configuration

// <e0> Real Time Clock Configuration
//  <0l.8..9> RTC clock source selection
//  <i> Default: No Clock

// <0=> No Clock

// <{1=> RTCCLK = LSE (32, 768kHz)
// <2=> RTCCLK = LSI (32 kHz)

// <3=> RTCCLK = HSE/128

//  <02> RTC period [ms] <10-1000:10>

//  <i> Set the timer period for Real Time Clock.

//  <i> Default: 1000 (1s)

// <h> RIC Time Value

// <03> Hour <0-23>

// <o4> Minute <0-59>

// <ob> Second <0-59>

/] </h>

// <h> RIC Alarm Value

// <o6> Hour <0-23>

// <o7> Minute <0-59>

// <o8> Second <0-59>

/] </h>

//  <e9> RTC interrupts

// <010. 0> RTC CRH. SECIE: Second interrupt enabled
// <010. 1> RTC CRH. ALRIE: Alarm interrupt enabled
// <010. 2> RTC CRH.OWIE: Overflow interrupt enabled
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/e

/] </e>

#define _ RTC_SETUP 0 //BAER S 0

#idefine _ RTC_CLKSRC_ VAL 0x00000100 //BAEN ST 1

#define _ RTC_PERIOD 0x000003E8 //BAEN RS 2

#define _ RTC TIME H 0x00 /IR RS 3

#define _ RTC TIME M 0x00 /BRI R 5 4

#define _ RTC TIME S 0x00 /1B B 5

#define _ RTC ALARM H 0x00 /1B RS 6

#define _ RTC ALARM M 0x01 /BRI RS T

#define _ RTC ALARM S 0x00 /1B RS 8

#define _ RTC_INTERRUPTS 0x00000001 //BAEN Z S 9

#define _ RTC CRH 0x00000001 /IR RS 10

PR«

// <h> RIC Time Value

// <03> Hour <0-23> ERRTC Alarm Yalue

// <o4> Minute <0-59> 4% 0
// <ob> Second <0-59> g :

// </h>
<hO</h>HE o L, FRoR BL I s T W28, [F—4, nTLARE
<0-23> BEVE I, HEdE Fl oA
//  <e9> RTC interrupts
// <010. 0> RTC CRH. SECIE: Second interrupt enabled = interrupts
. . RIC_CEH. SECIE. Second interrupt enabled
// <010. 1> RTC CRH.ALRIE: Alarm interrupt enabled KTC_CRAL ALRIE: Alarn interrupt enabled
// <010. 2> RTC CRH. OWIE: Overflow interrupt enabled ETC_CEH. O¥IE: Overflow interrupt enabled
/) e
R <</ HIe> </e>X il <h> 2 S HIR), K2Rt & 7ot — M, <e>ZHZHI L a<e0>, <el>,

eOWHFHEAAN T, KRBT,

<R

CONFEE SR R i e, ot —a T g, To=0, 121

qFFE M, o
/) <q0.4> q BRI
#tdefine QLABLE  0x00000000

g i, v
/) <q0.4> q BRI
#tdefine QLABLE  0x00000010
<sOPREE

SOPRBERIE THT ERARREME, X AMARBAR D ] 2
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Change ID Mo Uzer ID 8
Change Pazsword String W Pazzwordl 2345678901 2353456TEY

// <s> Change ID “‘::::::[: ::]
#tdefine ID "My User ID §&”
// <s0.30> Change Password String ——====:::::£:: :::]

char pw[] = "My Password1234567890123456789” ;




